EAGRAROBREERT — 2 N— ABISH —F

202058120 () 2mITIE2H

0% 5 ¥5%3%141 51 85F%8

EREE R

[A~&£] 17 :1,600,000  ~ 23 :640,000 § 3 7 :400,000 § ~ 4 3 :240,000 @ 5 7 :160,000 M

BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
T FH 7 . —13-11~ — BE=2 (1)
IA4d—L17 4 3 54_0|_ﬁ 1.(3_8).1 12-13-11-6 | 39.0 2 <4+767) e
A4 39R-5— B:T142-0v7 A Ei
=5 - 4 3 | BHE 1:38.2 8-8-5-3 |40.3| — 4 430 | tERRISAT (1)
F4—I=— 54.0 (1/2) @) | iR
RL:b—t2khvLARY BIZ—F4 e HiE
. it : —1-1- - EAZE (J11IE)
JameT—IL K 43 i 1(.13/82.>3 1-1-1-1 | 41.0 3 (4_413) g;ﬁ%
L:ibyHFT—ILE B:vaH-vI77 b =E B
0 1|38 : -~ = WisBZE (1)
TY— KINAF # 3 = (11.318/.26) 2-2-2-2 | 411 6 3?52) /H}? 5
RIAY>T7T9oa BiTU—LNAF RIS
pr—, 28, 33 ol - NAREE (J11)
VAL SRR (2 IR U oy | meEs
L:¥xrinq4n— B:UILyIR #4505
9 " o TREEEA :39. —6-6- . — EAE (JI1E)
6lglis| #H&a—nk #H 3 2 1(329)1 5-6-6-5 | 41.0 5 (4_310) Eﬂ—m
RL:d—ILRK7Ya—Ib BTy end > & %
. A . _11-12— — HHFEME (1)
71571 7=2%914% it 3 o= 1.(319>.3 11-11-13-11/ 40.4 8 (4_126) ;Emg
obhwHIO—U— BiXA2 377N b:cpae]
o FRBZ : 44— — AERIE— (11iE)
slzl11| 7B T K i 3 e 1.(329).7 3-4-4-8 | 41.9 13 (4_237) e
by HT—LE B:TN—54 b7AX SUaAmIT— 1
3 _ ft 3 | BRLEBE 1:39.9 13-12-12-10{ 41.0 | — 1 462 | EHEE— (1)
9(5|6 vxMl 54.0 (1 1/2) (-11) EW,;J&E:
A= XA A1 B:VILRT 4R 1S
. s\ . £ 3 | HEBH 1:40.1 10-9-7-9 [41.6| — 7 408 | EAFE (i)
1ol 2| I VT ~IvE— 77| As30 1) () | BEZEZE—K ()
L:xrinMO— B:¥XI-VIMY-— BREHEBS
73 s 3 | WAEH 1:40.3 6-5-8-7 |41.8| — 12 | 388 |EEH— ()
11| &1y 7Ty A51.0 1 (0 |4 TyFRTLZ
L:TEFANILE BiARTAFRLZ Nl &
B3 | WHEEE 1:42.3 9-10-9-13 | 43.7 | — 10 | 436 | ARE (I8)
12/ 8l12| 7737 .0 (21 %) (-5) | RBES
LNMVTZY BRI g—tw L—2 BREE 4%
i o3 | FERHEE 1:56.7 7-7-10-12 [ 58.2 | — 9 488 | SAREX (J11IF)
EH 5|712L2X 6.0 (24 4%) (+7) |BEE
LY LZA4N—F B:T7ILT bR gEm
® I—F—@EBIERL
|3=7r= 8,9,11,4,13,1,5,10,12,2,7,3,6
2ol=5"= 8,9,4,11,1,13,5,10,2,12,7,6,3
== 8,9,4,11,10,13,2,1,12,5,3,6,7
41—F— 8,9, (4,10),13,3,1,11,2,6,7,5,12
[ N
BB 3 4208 | | 714K 3-10 470 | | B = 3-7 1,260 | | 3:&=4& 3-8-10 1,750
# B 3 150/ 3-8 350M B 3-7 2,550 EE 3-10-8 10,8004
10 180H4 8-10 430M B = 3-10 1,400
8 140/ B H 3-10 2,760M

ARICOVWTRDTEEERROODE. TR LI,




